
F1*2

F2 F3 F4 F5 F6 F7 F8 F9+F10+F11

C1+C1-1

F12

F14 F14-1
F14-2

F13

W1-1

M3 Claw nut
M3*10 Screw

Front landing Gear set

F11

M3 Claw nut
M3*20 Screw

F8-1

F8-3*2

F8-2

RQ-7 SHADOW (S12 2023)

17g servo

D22*d21*1080mm Carbon
tube(590*2pcs)

1300mm Servo extension wire

Fix with glue

Suggested Equipment

UP:      MUL+MUR
DOWN:MDL+MDR

3mm*350mm Carbon tube*3

UP:
MU-1+MU-2+MU-3
DOWN:
MD-1+MD-2+MD-3

S1

22mm Tube clip

J1

J2
J3

J4

S2

S1

S2

S4
S5

S4
S5

L1-1+L1-2
L2-1+L2-2

L2-3

L3-1+L3-2 L3-3

L4-3

W1W2W3W4*2W5*2W6W6-1W7W8W9W10W11W12W13

A1 A1-1

UP:A3
DOWN:A3-1

L7

UP:A3
DOWN:A3-1

A2*2
A2 A2 A2*2 A2*2 A2*2A2 A2 A2

L5L6

M4 Claw nut

UP:6*8 Balsawood Strip
DOWN:6*8 Balsawood Strip

S3 10*8*525mm Alu tubeS3

L4-1+L4-2

1000mm Servo extension wire

20*18*806mm Alu tube

E4

E1

E2

E3

E5

E12

E6 E7 E8 E8 E9 E9 E10

E11*2 E11 E11 E11 E11 E11*2

S4

S5

S6

Plastic Tube clip

M3 Claw nut

D22*d21*590mm Carbon tube 2pcs
D21*d20*100mm Carbon tube 1pcs

Plastic plug

1

2

3

4

5

6

7

10

8

9

11
F1

3mm*350mm Carbon tube*3

14

Wingspan : 2100mm
Length : 1900mm
Flying Weight : ≈ 4.4kg
Wing Area : 73dm²
Wing Load : 60g/dm² 

Motor : MC4220(5020) 410KV
ESC: 80A
Propeller : 15inch
Servo : 37g*4pcs 17g*3pcs
Battery : 6S 8000mAh
Radio≥6CH

13

12

15


